CLICK ANYWHERE on THIS PAGE to MOFFAT ELECTRIC RANGE REPAIR at
InspectApedia.com

Service
Replacement
Parts (with parts cross-reference)

List Price Guide

All Prices are in US Dollars

Prices Effective January 1, 2018

(Prices subject to change without notice)

To place or inquire about a parts order....

= Effective January 1, 2009 there is a minimum parts
of $25.00 net, excluding warranty parts

» Have the model and serial number ready when you call
(determine the age of the machine if a S/N is not available)

» Highlight special shipping instructions on your order
(add a note on the order if the customer is completely down)

= Call our toll-free number 1-866-673-7937

» Fax your order to: 336-217-8377

» Email your order & order inquiries to:
spareparts@moffat.com Al.
i



matthewst
Typewritten Text

matthewst
Typewritten Text
All Prices are in US Dollars

matthewst
Typewritten Text

matthewst
Typewritten Text

matthewst
Typewritten Text

https://inspectapedia.com/Appliances/Moffat_Electric_Range_Repair.php
editor@inspectApedia.com


     CLICK ANYWHERE on THIS PAGE to MOFFAT ELECTRIC RANGE REPAIR  at

InspectApedia.com


Company Information

Mailing Address:

3760 Industrial Drive Ste. B

Winston Salem, NC 27105
Shipping Address:

Richard Alexander Moffat
Technical Services Manager 3760 Industrial Drive Ste. B
ralexander@moffat.com Winston Salem, NC 27105

1-866-673-7937 www.moffatusa.com



Moffat LTD Service Parts 2018 Price List

Moffat Ltd. parts price list effective January 1, 2018

Prices in this catalog are in US dollars only and are billed as such.

Note: This price list includes Moffat LTD. service parts only.

Reminder: There is a minimum parts order of $25.00 net. Excluding warranty parts.

When ordering warranty parts, identify with model, serial number and mark for warranty.

[tem Number Item Description New List Price
DC25 Combi Cleaning Solution $221.40
LA65012020 Heating Element 6000W 208V $683.11
LA65012030 Heating Element 7000W 208V $842.29
LA65041020 Motor 200W $885.26
LA65070520 Safety Thermostat $225.55
LA65090120 Timer 120 min 60 Hz $213.10
LA65187110 Transformer 2.5/12/24V 40VA $280.04
LA65190370 Capacitor 10uF $80.70
LA65190380 Capacitor 5uF $62.22
M000011 ACORN NUT FOR M013431K $0.05
M000012 BAKING STONE 3/4" X 16.25 X 11" $122.84
M000013 BAKING STONE 3/4" X 16.25 X 24" $245.00
MO000015 E32 TIMER BRACKET ASSEMBLY, PRINCE CASTLE, MOFFET OVEN $209.06
M000016 LOCKING PLUG 50A 3PH 250V 3P4W $487.41
MO000017 CORD AND CABLE $11.84
M000018 DORMONT 4" COIL RESTRAINER $118.86
MO000019 MOFFAT HEAT SHIELD - E33 $183.38
M000021 MOFFAT PROOFER COVER $112.91
MO000024 18-8 Stainless Steel Male-Female Threaded Hex Standoffs $23.61
M000025 Bushing for M013431K $0.05
M000026 Power Cord for Speedway $266.50
M000027 WATER CONNECTION KIT FOR SPEEDWAY $146.15
M000028 3/4 X 72 SS WASH MACHINE HOSE $49.10
M002340 DOOR ** INNER GLASS $62.21
M002990 Obsolete USE M233862 $0.00
M003002 OVEN LAMP GLASS $27.37
MO003004 MICROSWITCH ** WITH LEVER $9.57
M003012 ACTUATING ** ROD $6.72
MO003016 MOTOR ** MOUNTING PLATE E31 $30.48
M003074 Obsolete use M003074K $205.10
MO003074K BOTTOM ELEMENT KIT E311 240V $273.71
M003113 ELEMENT ** TOP 208V $189.37
MO003114K ELEMENT**BOTTOM 208V $197.90
MO003123 NLA - Included w/element $9.86
MO003219 ELEMENT SUPPORT $7.19
M003397 ELEMENT SPACER/PLATED $1.74
MO003434 SILK GASKET $8.10
M004052 CONTROL PANEL-ENAMELED E32 $93.24

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
1



Moffat LTD Service Parts 2018 Price List

MO004312 BURNER W.A. ** PNTD G32LD G32 $873.19
MO004351 INJECTOR ACCESS PANEL $41.39
MO004352 GAS PIPE MTG BRKT-PAINTED G32 $6.82
M004397 RADIATION BAF-ENAMELED G32 $253.49
M004447 CONTROL PANEL WA-ENAM E31 $96.90
M004451 GLASS CLMP ANGLE PAINTED E+G32 $22.37
MO004452 GLASS CLMP ANGLE-PAINT E31 $32.55
MO004595 FAN BAFFLE $146.40
MO004705 Obsolete USE M231812 $0.00
MO004723 CONTROL PANEL E32'C BAKBAR $112.08
MO004724 CONTROL PANEL ENAM E87'F $180.81
M004725 DOOR INNER WA ENAM $317.72
MO004731 PIVOT COVER TOP ENAM E31& E25 $192.10
M004849 CONTROL PANEL E25 BLACK ENAMEL $61.04
MO004850 CONTROL PANEL $224.33
M004868 BOTTOM BAFFLE ENAM E25 $70.99
M004877 TRIM FOR E311MS BLACK ENAMEL $131.57
MO004913 LINT-ENAMELLED $38.81
MO004919 GLASS CLAMP ANGLE E27 $29.49
M004949 FRONT ACCESS PLATE $115.72
MO004952 BURNER ASSEMBLY G32MS $753.53
MO004957 DOOR INNER (ENAMELLED) $359.15
MO004993 ELEMENT COVER E311MS $118.46
M010162 POWERFLEX CORD 15A E27 $12.02
M010369 ELEMENT 110V 1100W E82 $62.00
M010370 ELEMENT E81 110V $145.03
M010371 GLASS DOOR E82 $58.43
M010499 FUSE 30A W/HOLDER $33.85
M010761 GROMMET 1.5" $8.91
M010856 FAN $177.75
M010866 COOLING DISC $54.93
M010909 CAPACITOR $29.82
M011005 BALL ** CATCH ASSY/INCLUDES018789 $33.47
M011389 MICROSWITCH INSULATOR $4.89
M011396 BOTTOM TRIM (E31 DOOR) $17.35
MO011404 NLA - Oven Support $6.09
M011410 ACCUATOR ROD BUTTON $21.61
M011413 RH OVEN SUPPORT $10.07
M011419 TIMER ** 3 HR 50HZ $536.84
M011422 PIVOT ** SUPPORT TOP RA $160.54
M011424 PIVOT SUPPORT BOTTOM ASSY S274.77
M011436 RATING PLATE E31W $23.73
M011601 REDUC. BUSH 3224x6x2 (SPECIAL) $9.92
M011604 ELEMENT ** TOP 240 E31 $268.42
M011654 TOP ELEMENT $208.12
M011740 NUT 111x2 $3.51
M011760 TIME ** SWITCH 60 MIN $116.53

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
2



Moffat LTD Service Parts 2018 Price List

M011794 Obsolete useM011794K $0.00
M011794K BUZZER KIT $106.86
M011980 THERMOSTAT 30'C - 110'C $75.70
M011982 THERMOSTAT 60'C - 200'C $94.42
M011983 TIMER ** 3 HR 60HZ $262.92
M011987 THERMOSTAT ** 50'-320'C FAN $122.85
M011990 THERMOSTAT 68'-200'C 3 POLE $141.30
M012206 CORD SET - 6-15P $54.92
M012271 PHIAL CLAMP BOTTOM $40.30
M012272 PHIAL CLAMP TOP $0.38
M012289 CORD SET - to specification $44.01
M012331 PILOT-DRILLED $40.66
M012779 ELEMENT 280V $362.91
M012781 SOLENOID ** VALVE 240VAC $354.97
M012782 CONNECTOR 209x6x2 $6.55
M012784 SOLENOID EXTENSION $13.56
M012785 SOLENOID ** INJECTOR $55.91
M012809 OVEN RACK OLD E31 & E25 $31.75
M012895 SWITCH BLACK BODY BLUE P/B $12.57
M013000 PILOT $20.53
M013011 COVER PANEL $281.19
M013048 LEG-ADJUSTABLE 4" A60-0631 $17.16
M013431K MOTOR KIT 50/60HZ $345.10
M013432 FAN ** E31 AND E311 $24.57
M013520 LAMPHOLDER B0O67 ULT550 $73.97
M013521 OVEN LAMP NEW STYLE E32MAX/E27 $20.24
M013528 NEON (UL APPROVED) $13.92
M013542 INDICATOR LIGHT - 250V $9.70
M013543 SWITCH $17.96
M013586 TERMINAL ** BLOCK $17.15
M013610 PIVOT ** BUSH - PLATED $3.81
M013612 PIVOT PIN - PLATED $20.82
M013755 SWITCH 18A 240V A.C-CAM TYPE $46.29
M013756 KNOB - PLASTIC $15.99
M013775 CONTROL KNOB $12.02
M013837 CONNECTOR 68x8x6 $21.62
M013858 NUT 61x8 $4.96
M013890 CASTOR SWIVEL $77.14
M013891 SWITCH BLACK BODY ORANGE P/B $25.66
M013892 HANDLE - BLACK $145.46
M013893 DOOR CATCH SPRING $11.59
M013908 SPACER FOOT ASSY $6.28
M013951 HINGE PLATE $10.80
M013965 MOTOR MOUNTING PLATE $17.65
M013974 PHIAL GUARD $28.11
M013977 MICROSWITCH INSULATOR $3.31
M013987 OVEN INSULATOR $11.11

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
3



Moffat LTD Service Parts 2018 Price List

M013996 MICROSWITCH $43.49
M013998 Obsolete use M013998K $0.00
M013998K Motor 240V - Proofer $303.76
M013999 MOTOR 110V 60HZ E87 & E89 $292.51
M014001 ELEMENT 240V E87/E8SS8 (DRY) $72.97
M014007 HANDLE - BLACK $41.63
M014031 OVEN BAFFLE STUD-PLATED $10.66
M014032 BUZZER BRACKET $40.30
M014120 HANDLE CATCH BRACKET - PLATED $16.06
M014185 CONNECTOR BLOCK $18.02
M014210 LAMPHOLDER B030 $52.28
M014218 LAMP E14 BASE T25 240VAC 25W $14.33
M014219 LAMP E14 BASE 22x48 125V 15W $37.68
M014225 OVEN ** SEAL ASSY VERT E31 $25.43
M014226 OVENSEAL ** ASSY HZ E31/32 G32 $26.59
M014227 OVEN SEAL ASSY VERT E32 G32 $36.61
M014233 THERMOSTAT ** 0-40'C $235.67
M014672 Obsolete use M014672K $0.00
M014672K MOTOR 208V/240V 50/60HZ $285.33
M014694 MOTOR ** MOUNTING BOX $26.68
M014941 NLA $32.22
M014989 TEE 3/8 BSP GALV $3.50
M015168 OVEN RACK E35/0Id E32 $73.99
M015176 ELBOW 1/2 BSP FEMALE GALV $2.84
M015224 ELEMENT 240V $120.78
M015230 WET ELEMENT 110V FOR PROOFER E89/E87 $181.50
M015238 STRIP INSERT - SHORT $9.28
M015239 STRIP INSERT - SIDE $9.00
M015243 FAN CLAMP BRACKET $6.41
M015248 DUCT HEAT SHIELD $35.64
M015292 WASHER 13.5X19X3.0 $2.43
M015308 INJECTOR ** TUBE $19.83
M015309 ADAPTOR ** 3200x8x6 $11.93
M015310 BALL ** VALVE-FULL PRT 3/8 M/F $41.24
M015311 TEST POINT PLUG 1/8 " NPT $16.38
M015314 ADAPTOR ** 1/2BSP-1/2NPT $56.49
M015324 GAS VALVE BRACKET $8.75
M015329 IGNITION ELECTRODE BRACKET $11.24
M015349 GLASS-E32 DOOR OUTER GLASS $554.21
M015360 ELEMENT ASSY 208-220V E32 $337.66
M015363 ELEMENT ASSY 240V E32 $401.24
M015450 POWER RELAY KIT E31 $185.50
M015474 WATER TROUGH WA E87 $583.44
M015477 SIDE RACK E87 $457.97
M015482 DOOR FRAMED E87 OBS $815.47
M015483 LINER WA-E87 $854.93
M015485 THERMOSTAT ** (50-80'C) $93.36

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
4



Moffat LTD Service Parts 2018 Price List

M015501 KNOB Lo-1-2-3-4-Hi $9.28
M015538 HEATING WIRE - 110V $48.19
M015542 NIPPLE 3325x6 $14.12
MO015560 KNOB - BLANK OFF - MARK $15.41
MO015563 KNOB - 300C $12.93
MO015566 KNOB - 570F $14.49
MO015567 KNOB OFF MARK 180' ANG. $10.60
MO015575 OVEN ** SIDE RACK LH-WA E&G32 $204.27
M015581 ELEMENT BRACKET E32 $19.78
MO015589 REAR SERVICE PANEL - BOTTOM $6.73
M015590 REAR SERVICE PANEL - TOP $6.02
M015597 FAN ** E32 OLD STYLE $81.34
M015598 FAN ** G32 $17.67
MO015626 COMBINATION ** GAS VALVE $274.87
M015627 CONVERSION SPRING KIT $25.35
MO015639 HANDLE BRACKET - PLATED $66.43
M015653 SPRAY NOZZLE ASSEMBLY - BRASS $102.07
MO015656 FAN ** BAFFLE WA E32 $482.52
M015710 BOTTOM ELEMENT $263.43
MO015715 FUSE 15A W/HOLDER $18.67
MO015759 ELEMENT 110V $278.24
M015821 Obsolete use M015821K $0.00
M015821K MOTOR **120V60HZ $323.94
M015822K BUZZER 120V 50/60HZ KIT $111.58
M015823 TIMER ** 3hr 115N 60HZ $384.49
M015825 LAMP 130V 40W-OLD STYLE G32 $37.28
M015910 KIT-** LPG CONVERS 25M22 VALVE $60.60
MO015919 PILOT BURNER LH $22.23
M015947 obsolete no replacement MOTOR SPACER STUD $0.00
M016403 CONVERSION ** KIT LPG-NAT $49.04
M016518 CASTOR KIT E35 $265.89
MO016579 HINGE ** $18.76
M016648 MAGNETIC CATCH-HANDEE HVY DUTY $22.67
M017121 THERMOSTAT ** $136.54
MO017156 COOKIE RACK LH WA $308.38
MO017157 COOKIE BAFFLE WA $522.48
MO017297 RELAY 2 POLE 25AMP/POLE $176.20
MO017531 KNOB 'C $7.23
MO017551 THERMOSTAT KIT E31 $269.99
M017575 HINGE - to specification $67.68
MO017770 PHIAL GUARD E31 $8.02
M017802 INLET SPIGOT - 10mm $6.95
M017804 NUT - 10mm STEEL (FOR 215) $4.21
MO017905 HINGE ** BUSH $14.00
M017929 DAMPER ROD CLIP $18.81
M018031 OVEN SEAL E31 $58.38
M018033 SEAL RETAINING CLIP $3.94

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
5



M018223
M018224
MO018910
M018947
M018965
M018969
MO018970
M019230
MO019369
MO019369K
M019491
M020082
MO020083
M020188
M020213
M0206236
MO020713
MO020713K
MO020725
M020731
MO020737
MO020738
MO020745K
M020751
MO020751K
M020752
MO020753
MO020753K
MO020754
M020762
MO020762K
MO020763
MO020763K
MO020766
MO020772
MO020773
MO020774
MO020777
MO020785
MO020787
MO020795
M020802
M020819
M020820
M020822
MO020823
M020824

Moffat LTD Service Parts 2018 Price List

THERMOSTAT

KNOB

VENT KIT TYPE B

MAGNETIC CATCH

CHICKEN RACK E32

OVEN SEAL -E32/G32/G570
OVEN SEAL -E31

CHICKEN COOKING KIT

Obsolete use M019369K
OVERTEMP THERMOSTAT
MICROSWITCH MODIFIED

TOP ** HINGE ASSY

BOTTOM ** HINGE ASSY
THERMOSTAT OVERTEMP
TRANSFORMER WH-602E4-2F
THERMOSTAT ADJUST TOOL MOFFAT
Obsolete use M020713K

Inner glass, E35

DOOR FRAME WA

DOOR TRIM OUTER RH

HINGE MOUNTING PLATE-TOP
HINGE ** BUSH

MOTOR 3 P E35

Obsolete use M020751K
HANDLE BLACK KIT

GEAR RIGHT HAND

OBSOLETE USE M020753K
BOLTING ELEMENT E35

STRIKE No 1

Obsolete Use M020762K

E35 OVEN ELEMENT KIT 2000W 240V
Obsolete use M020763K
ELEMENT ** 2000W 208-220V
DOOR INNER GLASS LATCH ASSY
HEATING ** CONTACTOR

TIMER KIT E35

MICROSWITCH **

CIRCUIT BREAKER 6A/useM232407
SIDE PANEL MOUNTING BRACKET
SIDE PANEL LH 26"

TOP COVER 26"

RACK LOCATION PIN WA - UPPER
OVER PRESSURE SPRING

VENT OPERATING ROD
SELECTOR ** SWITCH

KNOB

VENT GASKET

$124.92
$5.18
$672.46
$97.34
$735.41
$90.88
$88.47
$598.76
$0.00
$176.53
$20.94
$47.38
$47.38
$167.90
$205.43
$14.93
$0.00
$219.60
$534.24
$42.93
$122.69
$17.81
$1,762.53
$0.00
$440.62
$206.85
$0.00
$246.40
$73.81
$193.42
$258.71
$0.00
$303.04
$99.57
$740.23
$438.17
$192.60
$67.43
$3.47
$201.70
$666.53
$25.76
$17.39
$251.66
$38.31
$11.06
$4.50

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
6



Moffat LTD Service Parts 2018 Price List

M020827 VENT FLAP $39.60
M020828 VENT OVERPRESSURE PLATE $3.54
M020829 MICROSWITCH MOUNTING BRACKET $7.79
M020831 DOOR PIVOT PIN E35 OLD $20.88
M020833 DOOR BOLT CONNECTING ROD $18.47
MO020834 VENT SWITCH BRACKET $13.01
M020847 DOOR INNER GLASS ASSY $574.06
M020849 NEON INDICATOR 9mm SIGNAL LUX $10.49
M020851 WATER ** SOLENOID $96.69
MO020853 WHIRLJET SPRAY BODY $202.95
MO020855 FEMALE CONNECTOR $25.43
MO020856 GASKET $1.39
M020865 SCREW CAP (POZI) BLACK PLASTIC $0.56
MO020866 DOME PLUG DIA. 12.7 $1.28
M020869 FEMALE CONNECTOR $17.93
M020876 SCREW-1"x3/8"BSW HEX BLACK $7.41
M020879 FAN BAFFLE E35-26 $272.28
M020882K THERMOSTAT PC BOARD KIT $523.23
M020883K PROBE ** CRIMPED MTG BRKT $288.60
M020886K Obsolete Use M240019 $1,175.64
M020888 SELECTOR SWITCH $38.11
M020893 STEAM ** SWITCH ASSY $284.46
M020896 MOTOR SHAFT SEAL $100.00
M020897 MOTOR INSULATION PLATE $11.85
M020975 CIRCUIT ** BREAKER 40A $326.00
MO020976 POTENTIOMETER MOUNTING BRACKET $6.64
M020985 Obsolete use M020985K $0.00
M020985K POTENTIOMETER $340.43
M020995 END ANCHOR $6.21
M020998 TERMINAL ** BLOCK 6mm-GREY $9.71
M020999 TERMINAL ** BLOCK 6mm-RED $12.26
M021057 SPRAY ** NOZZLE ASSEMBLY $44.19
M021058 Obsolete use M236739 $30.83
MO021154 OUTER GLASS HINGED ASSEMBLY $602.46
MO021156 FAN ** $197.03
M021211 ADJUSTABLE FOOT, BLACK NYLON $15.08
M021225 TERMINAL MARKING L1 $1.14
M021228 TERMINAL MARKING N (NEUTRAL) $1.14
M021229 TERMINAL MARKING EARTH SYMBOL $1.14
M021342 LAMPHOLDER $49.87
MO021345 Obsolete use M238180 $215.88
MO021350 LAMP G4/20W 12V HALOGEN $38.03
M021351 LAMPHOLDER c/w LAMP $95.67
MO021352 GLASS LENS $46.01
MO021353 SUPPORT FRAME $16.98
MO021354 GASKET ** $16.47
M021427 obsolete CONTROL PANEL TRIM LH $0.00

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
7



Moffat LTD Service Parts 2018 Price List

M021434 DOOR FRAME & GLASS COMPLETE $991.28
M021436 DOOR FRAME & GLASS COMPLETE $978.99
M021439K Top panel kit for and E85 $357.68
M021442 TIMER MOUNTING PANEL $15.45
M021444 DOOR OUTER GLASS E31 $130.04
MO021461 DOOR FRAME & GLASS COMPLETE $544.41
M021464 CATCH PLATE PLATED $75.56
M021465 HANDLE ** BRACKET PLTD (BR44) S44.16
M021466 HANDLE ** BRACKET PLTD (BR44) $61.21
MO021467 CATCH ** PLATE PLATED (BR44) $89.30
M021469 HANDLE ASSY E31 $147.36
M021472 KNOB $11.69
M021473 SWITCH ** POWER $37.53
M021474 SWITCH ** LIGHT/STEAM $24.11
M021476 SWITCH ** ROAST'N'HOLD $20.54
M021514 SWITCH ** POWER 110V $22.37
M021515 SWITCH ** ROAST'N'HOLD 110V $35.29
M021517 OVEN ** SEAL ASSY -HORIZONTAL $35.29
M021519 TOP SEAL $8.49
M021520 OVEN ** SEAL ASSY -VERTICAL $40.18
M021522 SIDE SEAL $12.93
M021526 WATER ** INLET ELBOW $27.19
M021527 WASHER-RUBBER $1.85
M021528 TOP TRIM POWDER COATED $118.54
M021531 BOTTOM TRIM POWDER COATED $85.52
M021532 DOOR TRIM POWDER COATED $33.30
M021534 RELAY 240V $50.91
M021535 RELAY ** 110V $50.91
M021537 BUZZER BRACKET $12.10
M021538 HOLD STAT BRACKET $12.17
M021551 CAPACITOR ** 10uF 50 hz $210.90
M021552 CAPACITOR ** 12uF $103.25
M021553 CAPACITOR ** 20uF 50hz $111.34
M021554 CAPACITOR ** 30uF 50 hz $118.62
M021555 Obsolete use M232555K $162.65
M021559 CENTRE JUMPER $8.67
M021560 RELAY ** 10A $104.31
M021563 CIRCUIT BREAKER 25A 3 POLE $375.23
M021598 BAFFLE SCREW E27 $8.83
MO021617 WATER ** SOLENOID 110V $110.77
M021618 WATER SOLENOID BRACKET $5.27
M021637 MICROSWITCH BUTTON $22.78
M021638 PIN CIRCLIP $7.71
M021693 DRY ** ELEMENT 800W 110V $298.38
MO021693A ELEMENT 1200W 110V $79.51
M021695 WET ** ELEMENT 800W 110V $354.97
M021696 WET ELEMENT 800W 240V $282.87

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
8



Moffat LTD Service Parts 2018 Price List

M021698 THUMB SCREW $15.57
M021800 WATER TANK - WA $201.81
M022042 FAN ** $52.62
M022069 DOOR HINGE, SHIM $1.79
M022079 STEM SOCKET $34.30
M022102 ELEMENT 800W -110V FOR E84 $71.76
M022103 ELEMENT 800W -110V FOR E83 $213.20
M022250 FLOAT ** SWITCH $200.00
M022252 FLOAT SWITCH SLEEVE $4.68
M022256 DRAIN PAN $143.85
M022259 ELEMENT 208-220V 125W $137.95
M022281 CONTACTOR ** 100-MO5NA31 $270.05
M022282 CONTACTOR ** KIT E31 $194.91
M022295 TERMINAL BLOCK $25.84
M022296 PARTITION PLATE $6.38
M022308 GLASS CLAMP $4.45
MO022314 GLASS SEAL 740mm $82.08
M022360 FILTER, VENTLESS HOOD, EAC 16 IN. $1,048.24
M022456 HOSE CLAMPS $6.40
M022522 DRAIN OULET $95.29
MO022527 CENTER JUMPER 3 POLE $37.36
M022740 INNER GLASS SEAL E35 $66.03
MO022755 SEAL STRIP TOP $78.66
MO022758 CATCH PLATE $48.30
MO022763 DOOR TRIM RIGHT HAND E85-12 $112.77
MO022764 SEAL STRIP LH $69.53
MO022765 SEAL STRIP RH $75.76
M022768 DOOR ASSEMBLY E85-8 $876.30
MO022769 DOOR ASSEMBLY E85-12 $1,088.06
M022787 THERMOSTAT ** E85 HLD $122.01
MO022788 TEMPERATURE ** GAUGE $206.83
M022789 SWITCH ** 3 POSITION $26.57
M022909 IGNITION ** ELETRODE KIT G32 $380.45
M022989 DOOR SEAL $54.52
M022990 DOOR SEAL FOR E85-12 $201.37
M022994 CONTACTORKIT E32 $190.75
M023024 IGNITION ** BOX 2460D-506-023 $600.00
M023025 IGNITION BOX $323.09
M023050 HUNGE MOUNTING PLATE TOP $231.95
MO023051 HINGE MOUNTING PLATE - BOTTOM $167.00
MO023058 TIMER KIT E35 new $423.09
MO023059 TIMER KIT E35 $423.25
M023062 DOOR ** OUTER GLASS E25 $109.68
MO023063 DOOR ** INNER GLASS E25, 11-3/16 x 19-1/16 $91.29
MO023066 OVEN ** SIDE RACK LH $31.64
MO023067 OVEN ** SIDE RACK RH $32.55
MO023068 SIDE RACK SCREW $13.25

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
9



Moffat LTD Service Parts 2018 Price List

MO023069 OVEN ** ELEMENT 1550W 120v $69.09
M023070 OVEN ** ELEMENT 2000W 120v $70.49
M023072 BROIL ** ELEMENT 2000W 120v $111.75
MO023074 LINTEL SUPPORT $12.01
M023090 HANDLE STIFFNER $14.19
MO023093 MICROSWITCH MOUNTING BRKT E27 $10.08
MO023099 SIDE ** SEAL ASSY E25/E26 $25.18
M023100 CORD SET 20A 120V 5-20P $136.47
M023211 THERMOSTAT ** 50-250C $65.22
M023212 TIMER ** 60MIN $103.79
M023213 RELAY ** 120V 2POLE $240.07
MO023214HD BLOWR ** MTR 110V50-60Hz W/FAN $473.85
M023216 OVEN LAMP ASSY 120V 40W $47.31
M023217 HINGE ** E25/25B $53.26
M023218 HINGE E27 $50.86
M023219 COUNTER SUPPORT BRKT $19.41
M023242 SST WRAP 311 SERIES OVENS $238.15
M023243 PIVOT SUPPORT -TOP ASSY $141.74
M023245 PIVOT SUPPORT -BOTTOM ASSY $277.84
MO023254 OVEN RACK E311 $53.30
MO023256 OVEN ** SIDE RACKRH E311 $122.26
MO023257 OVEN SEAL ASSY-HORIZONTAL $32.06
MO023263 INNER ** DOOR GLASS E311 $84.24
MO023264 OUTER ** DOOR GLASS E311 $95.43
MO023278 HORIZONTAL SEAL $11.94
M023281 TOP TRIM $201.63
MO023382 BAFFLE ASSY E25 E26 $164.84
MO023387 BAFFLE SUPPORT $15.41
M0235166 OLD A25 STAND ADAPTOR KIT $261.00
MO023615 Obsolete USE M237786 $0.00
MO023616 BOTTOM TRIM $83.00
MO023857 PILOT LIGHT $10.35
MO023964 IGNITION MOUNTING PANEL MOFFAT $453.23
M023965 IGNITION ** BOX KIT G32 USA $749.76
M024090 GLASS MODULE STAINLESS DOOR E35 NEW STYLE $235.18
MO024127 SPARK ELECTRODE G32 $39.68
M024290 STACK KIT E25 $450.23
MO024377 DOOR ** OUTER GLASS E27 $191.80
MO024378 DOOR ** INNER GLASS E27 $117.68
M024404 TOP ** & BOTTOM SEAL E27 $44.98
M024405 SIDE ** SEAL E27 $32.47
M024406 LEFT ** HAND SIDE RACK E27 $88.33
M024407 RIGHT ** HAND SIDE RACK E27 $88.33
M024409 OVEN ** ELEMNT 2800W 208V E27 $121.02
M024410 OVEN ** ELEMNT 2800W 240V E27 $185.85
MO024433 OVEN ** FAN E27/E32MAX $203.99
MO024478 Obsolete - Use M238989 $15.96

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
10



Moffat LTD Service Parts 2018 Price List

M024504 MOTOR TIMER MOUNTING BRKT E27 $9.68
M024505 RELAY ** 30A E27 $115.56
M024527 THERMOSTAT 30-80 $149.31
M024562 POWER RELAY E31 $113.57
M024563 UPGRADE KIT E31 POWER RELAY $188.54
M024584 BRACKET FOR E32MS $23.61
M024599 DOOR HANDLE BRACKET $169.48
M024604 MOTOR MOUNTING PLATE $28.51
M024605 GLASS CLAMP ANGLE FOR E32MS $9.04
M024684 SIDE COVER -LH $195.38
M024713 HANDLE $126.52
M024773 LIGHT SWITCH $22.12
M024774 THERMOSTAT ** $43.79
M024775 OVERLAY E32MAX BAKBAR $96.74
M024777 LEXAN PANEL OVERLAY $116.55
M024784 DOOR SEAL (SIDE) $36.20
M024785 DOOR SEAL (TOP/BOTTOM) $35.21
M024791 MICROSWITCH ROD $34.13
M024802 MICROSWITCH $7.24
M024803 ROLLER STRIKE PLATE, TOP $12.76
M024804 ROLLER STRIKE PLATE, BOTTOM $12.93
M024805 OBSOLETE CONTROL PANEL ST/ST G32 MS $0.00
M024809 ROLLER CATCH $96.80
M024844 DOOR OUTER GLASS $83.92
M024847 LINTEL PANEL $64.44
M024851 TRANSFORMER $288.92
M025021 CASTOR WITH BRAKE $251.82
M025071 FLAME SENSOR $46.29
M025089 RACK RUNNER LH 8 TRAY $473.78
M025090 RACK RUNNER RH 8 TRAY $452.94
M025161 DOOR INNER GLASS E35G $900.66
M025349 OVEN RACK-BP $104.70
M025387K FAN MOTOR KIT 110-120V $404.99
M025396 OBSOLETE - USE M239317 $836.57
M025400 OVERTEMP 360C (680F) $196.40
M025501 DOOR CATCH PLATE $32.39
M025502 DOOR BUSHING $9.43
M025519 DOOR HANDLE $145.21
M025567 WATER TANK $189.45
M025598 DOOR SEAL $95.59
M025600 MAGNET MOUNTING PLATE $43.24
M025685 OBSOLETE-RACK ADAPTER E89 $655.26
M025721 STACK KIT E89/E89MS DOUBLE $304.25
M025732 CONDENSATE DRAWER $74.55
M025751 Motor Heat Flinger $174.21
M025787 TRANSFORMER $286.52
M025840 INSULATING DISK $12.55

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
11



Moffat LTD Service Parts 2018 Price List

M025916 RACK RUNNER LH 4 TRAY E35 $503.65
M025922 BRASS FITTING $20.71
M025997 PROBE ASSY $265.66
M026127 Obsolete - RACK RUNNER 5 TRAY LH WA $0.00
M026144 TUBE WELD INSERTS SST FOR STAND W/ CASTER $65.85
M026160 TERMINAL BLOCK $10.87
M026175 SIDE RACK LH 5 TRAY WA $189.31
M026176 FAN BAFFLE 5 TRAY WA $326.77
M026216 DRAWER $90.75
M026487 CONTROL PANEL E25MSW $250.50
M026495 OVERLAY E25MSW $118.79
M026498 HANDLE - STAINLESS STEEL $63.70
M026716 ELEMENT 240V $294.10
M031963 FILTER, VENTLESS HOOD, CHARCOAL 16 X 12-3/8 X 2 ASSY $428.53
M032140 INJECTOR 1.40mm DRILL# 54 $12.71
M032160 INJECTOR 1.60mm DRILL# 1/16 $12.49
M032165 INJECTOR 1.65mm DRILL# 52 $13.43
M032170 INJECTOR 1.70mm DRILL# 51 $5.70
M032180 INJECTOR 1.80MM $4.80
M032230 INJECTOR 2.30mm DRILL# 43 $13.66
M032235 INJECTOR 2.35mm DRILL# 43 $21.92
M032240 Inactive - INJECTOR 2.40mm DRILL# 42 $0.00
M032250 INJECTOR 2.50mm DRILL# 40 $12.75
M032260 INJECTOR 2.60mm DRILL# 38 $12.49
M032265 INJECTOR 2.65mm DRILL# 37 $11.53
M032270 INJECTOR 2.70mm DRILL# 37 $13.69
M032280 INJECTOR 2.80MM $10.84
M041036 SCREW 3/8 X8B PANPHIL NIPI $1.54
M041040 obsolete SCREW $0.00
M041045 SCREW 1/2X8 MUSHHDPOZI S/T NP S0.11
M041046 SCREW 1/2x8 MSHHDPOZI-BLACK $1.54
M041065 SCREW 5/8x8 PAN HD POZI S/S $1.54
M041066 SCREW 3/4x8 PAN HD POZI S/S $1.54
M041070 SCREW 3/4x8 MSHHDPOZI S/T ZP $1.54
M041095 SCREW 1X10 PANHDPOZI S/T ZP $1.54
M041218 SCREW 1X1/8 RNHDSLOT $1.54
M041230 SCREW 1X5/32 RNHHDSLOT S/S $1.54
M041232 SCREW 1/4X3/16 RNDHDSLR S/S $1.54
M041238 SCREW 3/16 1/2RNHHDSLOT S/S $2.90
M041240 SCREW 1X3/16 BSW ROUNDSLOT SS $1.54
M041242 SCREW 1X3/16 BSW ROUNDSLOT $1.54
M041255 SCREW 3/4X1/4 BSW RNDSLT SS $1.54
M041259 SCREW 1X4X1 1/4 RNDHDSLOT S/S $1.54
M041405 SCREW 1/2X3/16 BSW MUSHSLOTP $1.54
M041424 SCREW M 8X12 PAN HD SLOT N/P $1.54
M041425 SCREW 6XM4 PAN POZI ZP $2.25
M041426 SCREW M 5X12 POZI PAN HD $1.54

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
12



Moffat LTD Service Parts 2018 Price List

M041440 SCREW 3/4X3/16 $1.54
M041441 SCREW 3/16X3/4 RSDCSKPOZI $0.45
M041444 SCREW M 4X16 CSK POZI N/P $0.49
M041448 SCREW FOR ELEMENT SPACER/ M003397 $0.29
M041450 SCREW 3/4X1/4 $1.54
M041467 SCREW M5 X 8 CSK PHILLIPS HD $1.54
M041631 SCREW 6X12 HEX WASHER FACE $1.54
M041674 SCREW 3/8X1 1/4 HEXHD SET Z/P $1.54
MO041676 SCREW 3/8X3/4HEX HD SET Z/P $1.54
M044001 NUT 1/8 HEXFULL S/S $1.54
M044010 NUT 3/16 BSW HEXPRSD ZP $1.54
M044015 NUT 3/16 BSW HEXPRSD SS $1.54
M0440258 NUT 3/8 HEX MACHINE $1.54
MO044058 NUT 3/8 HEX MACHINE $1.54
M044215 CAGE NUT $1.60
MO045010 WASHER 3/8 HEX MACHINE $1.54
M045020 WASHER 1/2 X3/16 N X 1/32 ZP $1.54
M045200 WASHER M5 INT TOOTH SHKPPRF ZP $1.54
M045400 WASHER L/8 SPRING ZP $1.54
MO045405 WASHER 5/32 $1.54
M045415 WASHER 1/4 SPRING ZP $1.54
MO045425 WASHER 3/8 SPRING $1.54
M045600 WASHER RED FIBER 5/32X3/8X1/32 $1.54
MO045605 WASHER BALCK FIBER 3/16 $1.54
MO045615 WASHER 1/2 X 1/4 X 1/16 RED FI $1.54
MO047308 SPLIT PIN 1/8 X 1.25 SST $1.35
M090014P SEAL KIT $41.62
M090201P SEAL KIT $51.09
M090202P SEAL KIT $46.24
M090203P SEAL KIT $54.05
M090225P SEAL KIT $33.69
M0903710 RETROFIT DOOR SEAL $205.00
M090424 FIBERGLASS/ 38MM $67.88
MO090500 LEGS SEISMIC RESTRAINT 2"0OD 3/4-10 STUD G32/E35 (NO E32) $118.38
MOCSTR1 CASTER WHL SWIVEL $81.87
MOCSTR2 CASTER WHL RIGID $81.87
MOCSTR4 CASTER 2" $25.44
MOCSTR5 CASTER 2" WITH BRAKE $20.72
MOLOO01 LABEL SHIPPING DAMAGE MOFFAT $0.98
M21742 CONTACTOR $1.14
M228132 BADGE CLIP $4.05
M230577 Obsolete use M236769 $0.00
M230578 obsolete use M236769 $0.00
M230691 IGNITION BOX BRAHMA CE11U $517.32
M230725 DOOR FRAME WA E35 $505.43
M230735 DOOR TRIM LH $44.01
M230736 DOOR TRIM RH $42.22

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
13



M230741
M230742
M230744
M230745
M230746
M231438
M231494
M231510
M231511
M231738
M231738K
M231739
M231741
M231742
M231743
M231745
M231748
M231759
M231760
M231773
M231774
M231801
M231803
M231804
M231805
M231812
M231814
M232103
M232108
M232119
M232134
M232210
M232364
M232379
M232380
M232407
M232410
M232411
M232466
M232552
M232555
M232555K
M232577
M232588
M232666
M232667
M232668

Moffat LTD Service Parts 2018 Price List

HINGE MOUNTING PLATE - TOP
HINGE MOUNTING PLATE - BOTTOM
HINGE PIN

HINGE BUSH

HINGE NUT

to E35 Door Gasket (Replaces M025043)
HANDLE/LOCK - SLAMSHUT

GEAR PLATE E35

CONNECTION BRACKET

Obsolete use M231738K
CONTACTOR KIT 25A 4P 230V 50/60
CONTACTOR 32A 3P

CONTACTOR #11BG0610A230
CONTACTOR

CONTACTOR INTERLOCK FOR M231741
REVERSING STARTER KIT

ON DELAY TIMER 24-240VAC
TERMINAL BLOCK W16 RED
TERMINAL BLOCK W16 GREEN
DOOR TRIM TOP WA

DOOR TRIM BOTTOM WA

DOOR INNER GLASS BUFFER

DOOR INNER GLASS E35

SINGLE STEP LOCKING DOG

DUAL STEP LOCKING DOG

CONTROL PANEL FOR E35

LAMP G9, E35 25W 230V HALOGEN
DOOR ASSEMBLY E35

LAMPHOLDER G9 HALOGEN

DOOR SEAL E35

DOOR OUTER GLASS ASSEMBLY
SIDE COVER RH G32

DOOR OUTER GLASS SPRING

FOOT 73-80MM ADJUSTABLE

FOOT O-RING

USE M238175 CIRCUIT BREAKER SINGLE POLE 6A
OBSOLETE-USE #M238181,SHUNT TRIP 90-240 VAC
STEAM SWITCH

MOTOR WIRING LOOM

CAPACITOR 12UF

Obsolete use M232555K

Capacitor 35uF

WIRE LOOM 35 GEAR PLATE

QUAD LATCH

DOOR SEAL E27/E32/G32

DOOR SEAL E23

WRAPPER FOR E22M3

$98.16
$116.80
$75.56
$32.04
$31.48
$242.58
$316.44
$29.64
$29.64
$0.00
$110.59
$116.98
$73.03
$154.27
$43.15
$46.31
$283.14
$26.67
$25.65
$100.48
$100.48
$12.20
$196.49
$55.81
$66.47
$196.74
$28.41
$1,472.14
$86.32
$500.00
$427.72
$207.80
$20.30
$27.82
$22.72
$0.00
$405.86
$125.91
$20.86
$31.07
$0.00
$101.64
$70.07
$86.60
$87.40
$71.99
$402.14

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com

14



Moffat LTD Service Parts 2018 Price List

M232682 OVEN SIDE RACK LH E23 $16.40
M232683 OVEN SIDE RACK RH E23 $16.82
M232685 FAN BAFFLE E28 $94.23
M232765 OVEN ELEMENT 1500W 110-120V $119.95
M232823 WRAPPER E27 $455.94
M232834 WRAPPER 23 ONLY $275.15
M232858 DOOR ASSEMBLY COMPLETE E22 $1,158.64
M232861 FAN BAFFLE E22 $68.28
M232874 Rear Panel E28 $80.26
M232879 FAN BAFFLE E23M $66.90
M232894 DOOR ASSEMBLY COMPLETE E27 $1,200.00
M232895 DOOR ASSEMBLY COMPLETE E28 $1,296.54
M232896 FAN BAFFLE E27M $80.90
M232903 FAN DIA 175MM/7" $280.81
M232905 FAN MOTOR 110-120V 60HZ $598.02
M232912 TOP PANEL G32 $191.66
M232961 VENT SHEILD G32 $38.77
M232964 THERMAL SWITCH 150C $44.35
M233044 CONTROL PANEL $95.26
M233046 CONTROL PANEL E27/28M $65.77
M233057 WRAPPER E28 $455.94
M233115 OVEN LAMP LENS $8.55
M233164 WRAPPER E31 $264.70
M233292 DOOR HINGE E22 $101.87
M233293 DOOR HINGE E23 $122.73
M233294 DOOR HINGE E27 $114.87
M233295 DOOR HINGE E28 $114.87
M233296 DOOR HINGE COUNTER BRACKET $11.54
M233309 HUMIDITY SENSOR ASSEMBLY $595.77
M233340 DOOR OUTER ASSEMBLY E28 $480.45
M233341 DOOR OUTER ASSEMBLY E27 $452.61
M233343 DOOR OUTER ASSEMBLY E22 $663.09
M233346 DOOR INNER GLASS ASSEMBLY E28 $274.69
M233368 DOOR INNER GLASS ASSEMBLY E27 $339.77
M233370 DOOR INNER GLASS ASSEMBLY E22 $284.00
M233521 OVEN SIDE RACK LH E22 $16.48
M233522 OVEN SIDE RACK RH E22 $16.40
M233528 FLOAT SWITCH $228.55
M233533 LOWER SIL $84.16
M233552 THUMB SCREW $12.08
M233556 OVEN SIDE RACK E28 $22.12
M233558 OVEN SIDE RACK LH E27M3 $18.55
M233559 OVEN SIDE RACK RH E27M3 $18.89
M233564 OVEN RACK E22/E23 $35.98
M233565 OVEN RACK E27/E28 $50.03
M233567 OVEN RACK E31D $36.14
M233573 OVERTEMP CAP $5.70

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
15



Moffat LTD Service Parts 2018 Price List

M233583 TOP PANEL E32 $191.66
M233585 SIDE COVER RH E32 $207.80
M233607 THERMOSTAT 50-260C (150-500F) $106.84
M233613 KNOB 60 MIN (BAKE TIMER) $7.59
M233617 Knob for 20 series F $7.36
M233649 OVEN RACK E32D/G32D $60.30
M233862 MICROSWITCH $10.61
M233863 OVEN LAMP ASSEMBLY G9 (COMPLETE) $116.76
M233865 MOFFAT BADGE $39.74
M233870 CABLE ENTRY CLAMP $4.25
M233871 CABLE ENTRY CLAMP SCREW $1.14
M233883 OVEN LAMP SEAL $2.40
M233884 LAMP BULB G9 25W HALOGEN 120V $25.94
M233887 ROTARY ON/OFF SWITCH $46.64
M233910 DOOR ASSEMBLY COMPLETE E23 $1,182.62
M233911 DOOR OUTER ASSEMBLY E23 $425.24
M233913 DOOR INNER GLASS ASSEMBLY E23 $286.57
M233918 DOOR TOP TRIM E22/E23 $44.81
M233986 FOOT 100MM ADJUSTABLE $42.88
M234030 MOTOR CONTACTOR(REPLACES M020768) $396.15
M234048 OVEN LAMP ASSEMBLY G9 25W 230V (COMPLETE) $101.99
M234078 WET ELEMENT 240V 600W $283.12
M234079 WET ELEMENT 120V 650W $200.00
M234080 DRY ELEMENT 240V 1200W $283.72
M234081 DRY ELEMENT 120V 1200W $153.83
M234088 OVEN ELEMENT 2800W 230-240V $145.38
M234089 OVEN ELEMENT 2800W 208-220V $190.48
M234106 OVEN ELEMENT 6300W 230-240V E32 2 SPD $125.73
M234107 OVEN ELEMENT 4500W 208-220V (E27M3) $190.02
M234108 OVEN ELEMENT 4500W 230-240V (E27M3) $188.04
M234136 INDICATOR BLUE LED 9MM 110-250V $17.27
M234137 FAN DIA 180MM/7" $161.04
M234138 FAN D220 X H50 FOR 50HZ $223.14
M234139 Obsolete use M235585 $0.00
M234189 TOP PANEL (SK23) $43.82
M234190 DRY ELEMENT 120V 700W $214.82
M234191 DRY ELEMENT 240V 800W $206.89
M234198 TOP PANEL (SK32) $43.90
M234199 Top Plate SK2731U (2 per stand) $49.29
M234202 BOTTOM OVEN ELEMENT 2000W 230-240V $145.49
M234203 BOTTOM OVEN ELEMENT 2000W 208-220V $164.87
M234204 OVEN SIDE RACK LH E31 $24.03
M234205 OVEN SIDE RACK RH E31 $23.94
M234206 BOTTOM ELEMENT GUARD $110.18
M234212 SWIVEL CASTOR $43.90
M234213 SWIVEL CASTOR WITH D/BRAKE $70.07
M234214 STEM SOCKET $16.59

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
16



Moffat LTD Service Parts 2018 Price List

M234216 CASTOR 75MM RIGID RUBBER $44.01
M234217 CASTOR 75MM SWIVEL RUBBER D/BRAKE $67.17
M234223 SIDE COVER LH G32 $196.29
M234224 SIDE COVER LH E32 $196.29
M234247 TOP PANEL (SK2731U) $57.00
M234251 CAPACITOR 5UF $23.86
M234252 CAPACITOR 10UF $46.46
M234266 G32 INJECTOR PIPE-USA/CAN $50.14
M234269 Obsolete use M230691 $0.00
M234304 FLOAT SWITCH BRACKET $11.18
M234315 SIDE PANEL FOR P8 $147.20
M234318 WATER TANK $208.20
M234319 CONDENSATE CHANNEL P8/P12 $73.26
M234324 RACK LH P8 $500.00
M234325 RACK RH P8 $480.88
M234328 RACK LH P12 $624.14
M234329 RACK RH P12 $100.00
M234334 CONTROL PANEL ASSEMBLY P8M F $130.62
M234335 CONTROL PANEL ASSEMBLY P12M F $1,194.37
M234347 FILTER HEAD KIT 3/8" PUSH-FIT (Needs M234562) $758.91
M234348 WATER SOLENOID 90 OUTLET 240V $154.27
M234349 WATER SOLENOID 90 OUTLET 120V $58.90
M234429 TRANSFORMER 208/240V X 12VAC SEC 15VA $100.00
M234430 TRANSFORMER 110-120V X 12VAC SEC 15VA $146.58
M234447 KNOB INDEXED $7.59
M234448 CONTROL PANEL LAMINATED E32D/G32D $320.56
M234450K ENCODER UPDATE KIT $65.03
M234458 GAS VALVE G32 120V $400.00
M234459 IGNITION MODULE FENWAL 120V $649.49
M234460 COOLING FAN 208-230V 50/60HZ $70.66
M234461 COOLING FAN 110-120V 50/60HZ $86.37
M234462 OVEN TOP ELEMENT 230-240V $180.61
M234463 OVEN TOP ELEMENT 208-220V $182.43
M234464 DOOR SEAL E31D $77.20
M234465 DOOR SEAL E22 $66.60
M234466 DOOR SEAL E28 $81.51
M234468 FAN MOTOR 200W 220-240V 50HZ $558.29
M234483 ELEMENT SUPPORT E31 $8.44
M234487 LOCATION PIN $9.97
M234510F CASTOR SPACER PROOFER $16.88
M234535 DOOR HANDLE P12 $208.81
M234537 DOOR SEAL P12 $130.55
M234546 Obsolete use M235152 $157.14
M234562 WATER FILTER CARTRIDGE P124BN $934.74
M234563 DOUBLE CHECK VALVE $329.68
M234565 DOOR ASSEMBLY COMPLETE P8 $1,029.36
M234566 DOOR ASSEMBLY COMPLETE P12 $1,304.42

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
17



M234570
M234571
M234574
M234579
M234580
M234581
M234582
M234583
M234602
M234624
M234625
M234626
M234627
M234641
M234642
M234656
M234657
M234658
M234659
M234661
M234662
M234666
M234667
M234668
M234669
M234689
M234690
M234701R
M234702R
M234721
M234722
M234723
M234737
M234738
M234746
M234751
M234752
M234756
M234757
M234767
M234779
M234779R
M234802
M234803
M234818
M234821
M234835

Moffat LTD Service Parts 2018 Price List

DOOR SEAL P8

DOOR HANDLE P8

DOOR ASSEMBLY COMPLETE E31D
DOOR HANDLE E31D

DOOR ROLLER CATCH

DOOR HANDLE E32/G32

DOOR CATCH STRIKE

DOOR ASSEMBLY COMPLETE E32/G32
INNER GLASS CATCH LH

INNER GLASS CATCH RH

FAN DIA 200MM/7 7/8" (60HZ MODEL)
OBSOLETE USE M234930

OBSOLETE USE M234930

CONTROL PANEL LAMINATED P8M F
CONTROL PANEL LAMINATED P12M F
OVEN SIDE RACK RUNNER LH 4-TRAY E32D/G32D
OVEN SIDE RACK RUNNER RH 4-TRAY E32D
OVEN SIDE RACK LH 5-TRAY E32D/G32D
OVEN SIDE RACK RH, BAFFLE 5-TRAY E32D
RACK LH 9-TRAY P12

RACK RH 9-TRAY P12

OVEN SIDE RACK RH 4-TRAY G32D
OVEN SIDE RACK RH 5-TRAY G32D
TUBE 3/8" ID BLUE 640MM

TUBE 3/8" ID BLUE 490MM

OBSOLETE use M239575

Obsolete use M239575

SIDE RACK HANGER RIGHT REAR

SIDE RACK HANGER RIGHT FRONT - D5
OVEN SIDE RACK LH E27M?2

OVEN SIDE RACK RH E27M2

TRAY RACKING KIT E27M2

INDICATOR RED LED 9MM 110-250V
VENT INSERT

Obsolete use DSKP8

DOOR SWITCH ACTUATOR

HINGE PIVOT KIT

DOOR INNER GLASS ASSEMBLY E31D
DOOR INNER GLASS ASSEMBLY E32D/G32D
INNER GLASS PIVOT SPACER

Obsolete use M234779R

INNER GLASS RETAINING CLIP

FUSE HOLDER 16A 250V

FUSE 10A 06.3X32MM

INNER GLASS LATCHING STUD
OVERTEMP THERMOSTAT 355C-20
DOME PLUG

$113.73
$155.07
$1,085.57
$151.42
$48.35
$105.62
$16.82
$1,088.47
$7.04
$7.04
$375.95
$0.00
$0.00
$429.44
$562.12
$249.67
$302.39
$275.76
$338.67
$532.68
$508.58
$397.69
$434.04
$85.52
$57.07
$0.00
$334.04
$10.94
$4.64
$19.04
$19.71
$127.69
$50.23
$16.82
$0.00
$13.25
$47.26
$674.48
$674.48
$4.22
$0.00
$2.57
$24.74
$5.22
$44.81
$180.61
$0.59

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com

18



M234856
M234875
M234905
M234916
M234930
M235015
M235022
M235023
M235024
M235025
M235031
M235104
M235105
M235124R
M235126
M235151
M235275
M235276
M235277
M235278
M235299
M235354
M235355
M235420
M235471
M235472
M235585
M235610
M235611
M235612
M235615
M235625
M235625K
M235652
M235657
M235658
M235669
M235670
M235695
M235696
M235700
M235701
M235790
M235847
M235848
M235849
M235851

Moffat LTD Service Parts 2018 Price List

HINGE SPACER

3 UF CAPACITOR

ADAPTOR KIT FOR E13D-A25
Rear Spacer

DOOR HINGE KIT P8 P12 E31D E32D G32D

FRAME WA REAR DSLE32 CASTOR
RACK WA LH P8

RACK WA RH P8

RACKWA LH 12-TRAY P12

RACK WA RH 12-TRAY P12

FLUE DUCT

DOOR STRIKE PIN

DOOR STRIKE

RIVET PLATE RACK HANGER
MICROSWITCH RETURN SPRING
DOOR HANDLE E22/E23

DOOR OUTER GLASS ASSY 32

DOOR OUTER GLASS ASSEMBLY E31DX
ROLLER CATCH STRIKE

STRIKE LOCKING NUT

VENT TUBE

Return Spring

RETURN SPRING KIT E/G32D

FAN PULLER E20M-E32D

MODOOR MICROSWITCH UPGRADE KIT
MICRO SWITCH RETURN KIT E31D OVEN
FAN MOTOR (208-240V)

Motor Shaft Seal

Cooling Fan 24VDC

Motor Shaft Seal Bracket

Oven Door Seal - E33

Obsolete use M235625K

Motor E32D - 708232-759468 8 wire
Door Inner Glass Assembly - E33
CONTROL PANEL ASSY E33T

Control Panel Laminated

Side Rack LH, 5 Tray - E33

Side Rack RH, 5 Tray - E33

Relay 24VDC SPNO 30A

Relay 24VDC SPDT 20A

USB Cable

USB PROTECTIVE CAP TYPE A

CONTROL PANEL LAMINATED E32D(UP TO SER#759468)D

DUST CAP, CORE TEMP PROBE
Reed Switch

Door Magnet

Obsolete use M237167 Kit

$3.84
$23.36
$1.14
$1.14
$104.05
$240.39
$422.94
$406.18
$512.86
$532.06
$72.82
$4.97
$4.55
$1.71
$8.26
$102.62
$644.93
$624.93
$17.56
$8.61
$277.19
$6.80
$34.54
$132.62
$100.00
$97.89
$515.06
$10.77
$108.93
$12.78
$73.89
$0.00
$807.22
$295.94
$3,571.38
$339.97
$227.97
$272.20
$12.01
$17.56
$30.99
$14.65
$267.33
$51.88
$50.17
$12.84
$0.00

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com

19



Moffat LTD Service Parts 2018 Price List

M235852 Obsolete use M237167 Kit $48.23
M235856 Fastener Kit for SK32 $73.99
M235859 Door Handle Assembly $350.15
M235874 WIRE SET E32D/E33D $329.89
M236014 DOOR LOCKING DOG ESCUTCHEON $12.01
M236053 Motor Capacitor 6.3uF, 60Hz Only $19.16
M236057 Oven Rack - E33 $55.08
M236060 Core Temperature Probe Kit $543.19
M236107K Element, 6300w 240V 2-Spd E32D $340.21
M236108K Element, 6300w 208V 2-Spd E32D5 $342.68
M236109 Obsolete use M236109K $0.00
M236109K OVEN ELEMENT KIT 5800W 240V $300.00
M236110 Obsolete use M236110K $0.00
M236110K OVEN ELEMENT E33 240V $302.83
M236198 DOOR LATCH COVER $3.15
M236202 Temperature Probe PT1000 $161.91
M236203 Door Outer Glass Assembly - E33 $588.26
M236214 Lampholder G9 $67.68
M236217 Motor Contactor 3P+1NC 24VDC $144.01
M236256 Obsolete use M240119 $0.00
M236258 TOUCH CONTROL KIT E20Tseries / E30Tseries - GENERAL MARKET $3,197.86
M236264 Element Gasket (included in Oven Element Kit) $9.78
M236268 MOTOR ** E27 & E32 MAX $524.51
M236269 CAPACITOR 3MFD *E27,E32MS $48.30
M236299 BOTTOM HINGE GASKET E33 $9.11
M236474 DOOR SEAL P10 $124.92
M236601 TRANSFORMER 110/120 24V $249.09
M236666 MOTOR TIMER 230V 50/60HZ 180SEC $329.39
M236668 P10 WATER TANK WA $182.57
M236713 COOLING FAN 92X92X25MM 24VDC TERMINATED $24.27
M236970 TOP PLATE SK32 $72.74
M237015 SIDE RACK RH 5T WA33 $322.34
M237020 SIDE RACK LH 5T WA E33 LMD $302.96
M237167 DOOR HINGE KIT P10 H10 E33 $146.71
M237180 Door Seal H10 $111.53
M237335 Obsolete use M237335K $0.00
M237335K Motor Kit E32D from 759469 7-wire $741.61
M237341 MOTOR MOUNTING PLATE E32 STUDDED $30.80
M237422 LIGHT WIRING KIT (E32D/G32D with round lights ONLY) $96.09
M237437 DOOR PIN RETROFIT KIT E/G 32D $49.37
M237445 CONTROL PANEL LAMINATED E32D/E33D(FROM SER#759469)D $354.81
M237446 CONTROL PANEL LAMINATED E31D $276.24
M237447K TEMP PROBE KIT E31D,E32D,E33D,G32D $130.62
M237448K Temperature Probe PT1000-KIT $123.35
M237548 Motor Kit E32D5 - up to SN 706748 (3-wire) $808.87
M237786 E311 POWDER COATED TOP TRIME311 POWDER COATED TOP TRIM $30.16
M237803 TOUCH CONTROL KIT PROOFER (0 GENERAL MARKET $4,220.70

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
20



Moffat LTD Service Parts 2018 Price List

M238001 UPDATE KIT 2SPD-NO CONTROL PANEL $997.49
M238005 UPDATE KIT 2SPD-FULL UPGRADE $1,811.62
M23801 ENTERED IN ERROR. UPDATE KIT 2SPD-NO CONTROL PANEL $1,000.00
M238017 E32D FULL UPGRADE KIT 2SP HI 60HZ $1,598.39
M238175 CIRCUT BREAKER 1P C 6A $47.80
M238180 E35 MCB 25A + SHUNT TRIP KIT $363.82
M238181 E35 MCB 40A + SHUNT TRIP KIT $414.88
M238240 TEMP PROBE PT1000 WATER TANK $277.19
M238390 CASTOR 65mmRIDGID PU $52.62
M238391 CASTOR 65mm SWIVEL PU /BRAKE $78.56
M238584 Door Seal - PB5M8 $80.43
M238606 Door Seal - P85M12 $92.61
M238676 SIDE RACK LH 4T WA E33 $238.24
M238678 SIDE RACK RH 4T WA E33 $291.23
M238727 SIDE RACK LH 4T 1-2US WA E33 $237.25
M238728 SIDE RACK RH 4T 1-2US WA E33 $285.18
M238730 RACK WA 1-2US P83T UC $338.70
M238731 RACK WA 1-2US PT10T $396.64
M238744 DOOR SEAL P83 UC $128.65
M238770 Indicator Red LED 10mm, 110 - 250V $18.63
M238895 STOP PLATE $4.34
M239307 E20M SERIES F ROTARY SWITCH KIT $55.91
M239317 FAN FOR E35 $424.92
M239353 Display only for touch screen $1,146.21
M239438 RH side panel $228.71
M239440 Top panel $203.36
M239445 Control panel laminated $493.37
M239512 Door Quter Glass Assembly $414.23
M239519 Door Inner Glass $177.19
M239575 Wire Set E32D - 1 speed Hanning $372.36
M239581 Vent Activator Motor $169.03
M239703 Use DSKE35P85 $189.96
M239741 Door Hinge Set Top $77.31
M239742 Door Hinge Set Bottom $77.31
M239763 INSTALLATION KIT FOR SPEEDWAY $416.40
M239833 Circuit Breaker 1P C 16A (1Ph models only) $40.67
M239834 Circuit Breaker 1P 5A W57 (all models) $36.29
M239860 Cooling Fan 120 x 120 x 38 230Vac $115.72
M239954 Castor 75mm, Rigid Rubber $25.18
M239955 Castor 75mm, Swivel Rubber D/Brake $38.27
M240019 Motor L9EB50, 208-240V, 60Hz, 1P/3P (incl Shaft Seal) $1,146.22
M240034 Thermal Switch 70C $41.00
M240063 TOUCH CONTROL KIT E33T / P83T SPEEDWAY $3,304.32
M240109 Thermistor 10ohm (1Ph models only) $28.83
M240117 Proofer Door Magnet Kit $107.93
M240119 Digital Controller Kit E30D Series $704.01
M240549 Heat Shield Kit E/G32 $243.54

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
21



M240550
M240937
M241045
M241119
M241448
M305449
M308155
M748019
M748039
M748057
M748059
M748060
M748061
MSA1142
MSA1475
MSA1548
MSA1586
MSA1587
MSA1595
MSA1673
MSA1687
MSA1767
MSA1768
MSD7013
MSD7031
MSD7033
MSD7034
MSD7035
MSD7046
MSD7047
MUSDSK8
R17108780
R17108790
R17108800
R65011780
R65011790
R65070511
R65080020
R65110240
R65110320
R65170170
R65170180
R65260540
R65270330
R65270350
R65302680
R65320220

Moffat LTD Service Parts 2018 Price List

Heat Shield Kit E33

Touch Control E33/H10 MCD

New Door Seal HP10T

LED Bulb HP10T

Bushing Kit Heatshields

Circuit Breaker UL/CSA 10A 3P (3Ph models only)
Heating Contactor 3P+1NO 24VDC
SCREW M4X10 TAPTITE PANPOZI ZP
M6 X 12 MM SCREW

Screw 8x1/4 Mush Phil NP
STARLOCK WASHER 6020

RIVET 4MM ST/ST MULTIGRIP
EXPANSION NUT 3/16 SST

DOOR ASSY

DOOR ASSY E25 COMPLETE

DOOR ASSY E27

DOOR ASSEMBLY (GLASS)

DOOR ASSEMBLY (SS) E/G 32MS
IGNITOR MTG BRACKET ASSY

DOOR ASSY E311MS

DOOR ASSY E89MS

E25MSW DOOR ASSY (STAINLESS STEEL)
SST DOOR FOR THE E27MS

E32/G32 GLASS DOOR

DOOR -E35 NEW STYLE

S/S DOOR ASSY E32/G32 Revamp
GLASS DOOR ASSY E32/G32 Revamp
GLASS DOOR ASSY E31 Revamp
Complete door assembly E85-8HLD Includes hinges,magnet, hand
DOOR ASSY E85-12HLD

Obsolete use DSKP8

DOOR OUTER ASSEMBLY LH EC40M5
DOOR OUTER ASSEMBLY LH EC40M7
DOOR OUTER ASSEMBLY LH EC40M10
Heating Element 6000W 230V
Heating Element 7000W 230V
Thermostat 50-280C

MAIN SELECTOR SWITCH

SOLENOID VALVE 220V 50HZ W/ FL
Solenoid Valve Single

Relay

Relay

Door Switch

Indicator Lamp Orange

Indicator Lamp Green

Buzzer

K Type Oven Probe

22

$215.87
$3,873.58
$205.35
$25.46
$78.32
$128.40
$209.16
$1.24
$0.63
$1.82
$1.08
$1.71
$1.64
$764.55
$1,040.77
$1,010.94
$889.99
$1,051.40
$93.93
$873.62
$1,724.24
$952.28
$1,555.89
$1,172.24
$2,886.82
$779.08
$825.97
$958.49
$1,479.72
$1,313.31
$0.00
$4,294.24
$4,917.11
$4,226.08
$389.73
$457.15
$384.88
$209.66
$170.92
$214.98
$169.04
$175.03
$158.68
$27.35
$27.35
$171.42
$216.37

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com



Moffat LTD Service Parts 2018 Price List

R65321430 Obsolete use R65321102 $544.84
R70044350 Door Gasket - 5 $336.28
R70044430 Door Gasket - 7 $377.05
R70044440 Door Gasket - 10 $388.45
R71201950 DOOR INR GLASS 700x855x6 EC40M10 $746.71
R71201970 DOOR INNER GLASS 700x645x6 EC40M7 $743.33
R71201990 DOOR INNER GLASS 700x480x6 EC40M5 $693.11

Please Fax or Email all orders. Fax: (336) 217-8377 Emails: spareparts@moffat.com
23



	MOFFAT 2018 SERVICE PRICE LIST



